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1. ROKIZFEARS 2 ANT, IBEINTROLE R BELBEEIE TR L. 72720, bhrosRndoiid TR LR
X & (SH2730%, A3 7408, Bs557, CHe79)

(1) AE:EC=1:1. (2) AD:DB=2:3.
A A
b . D E
B C B C
AD : DB AD: AB
AE : AC DE : AE
AD: AB AE: EC
DE : BC EC: AC
AD : DE AD : BC
DB : BC DE : BC
(3) AE=15,EC=9. (4) AD:%,DB:%.
C C
E B
E
D
A D B A
AB: AC AD: AB
AC: CE AD: AE
DB : BC CE: AE
AD: AB DE : EC
CB:ED CB:ED
ED : EA AE : BD
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2. ROKIZ FAELS 2 ANT, fHES N2 RO LB TRD K. 27210, brokndnicid ™) L
Ixyp eEFEF. (SH27308, Ak3740%, B#572, CH/T77)

(1) AE:EC=7:8. (2) AD:DB=12:8.
A A
D E
D E
B C B C
AD :DB AD: AB
DE : DA DE : AE
AE : AC AE : EC
AD: AB EC: AC
DE : BC AD : BC
CB: BA DE : BC
(3) CE=2,EA=15. (4) BD:%,DA:L
C B
B D
C
A E
D B A
AB : BC BD : DA
DB : BC AD : AC
AC: CE CA : AE
AD: AB AE : ED
AB : DB DE : DB
DE : BC CB:ED
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1. ROKIZFEARS 2 ANT, IBEINTROLE R BELBEEIE TR L. 72720, bhrosRndoiid TR LR
X & (SH2730%, A3 7408, Bs557, CHe79)

(1 AE:EC=1:1. (2) AD:DB=2:3.
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AD:DB = 1:1 AD:AB = 2:5
AE:AC = 1:2 DE : AE 4B
AD:AB = 1:2 AE:EC = 2:3
DE:BC = 1:2 EC:AC = 3:5
AD : DE AEH AD : BC AH
DB : BC N DE:BC = 2:5
(3) AE=15,EC=9. (4) AD:%,DB:%.
= AE:EC=5:3. . 3 4 .
:>AD.DB—§.§—3.4

: N
AB:AC A AD:AB = 3:7

ggfgg - ;E);’ AD : AE REH
' CE:AE = 4:3
AD:AB = 5: DE : EC TRBH
Eifgi - ;E): CB:ED = 7:3
' AE: BD N

© B - BEERE L7791 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROMIZ FEARLS 2 ANT, HHESNLMO L RDMHLBEHEHLTRD L. 2L, bhrokndoidld M) LR
Ixyp eEFEF. (SH27308, Ak3740%, B#572, CH/T77)

(1) AE:EC=7:8. (2) AD:DB=12:8 = AD:DB=3:2.

AD:DB = 7:8 AD:AB = 3:5
DE : DA ;| DE: AE ;|
AE:AC = T7:15 AE:EC =

AD:AB = 7:15 EC: AC = :
DE:BC = 7:15 AD: BC A<HH
CB: BA <HEH DE:BC = 3:5

(3 CE=2,EA=15. (4) BD:%,DA:L
AE:EC=15:20=3:4.
= C=15:20=3 ;»AD;DB:%:%=6 5

AB: BC ABH

DB BC B BD:DA = 5:6
AC'CE .4 AD: AC EH
AD'AB - 3'7 CA:AE = 11:6
AB'DB - 7'4 AE : ED PN
’ o DE: DB PN

DE:BC = 3:7
CB:ED = 11:6
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